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Part I (Multiple-choice) Answers
1. D 2. A 3. C 4. D 5. A

6. E 7. B 8. C 9. B 10. B

11. D 12. B 13. D 14. E 15. A

16. A 17. D 18. D 19. B 20. E

21. B 22. C 23. D 24. C 25. D

26. A 27. E 28. C 29. E 30. D

Solutions

Question 1 [D]

Question 2 [A]

Question 3 [C]

Question 4 [D]

Question 5 [A]

Question 6 [E]
Centre of circle 10 + 10i

Radius 10

Question 7 [B]

8Cos–1(2x)

Note: + c not required, since question asks for an

antiderivative.

Question 8 [C]
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Question 9 [B]

Question 10 [B]

Question 11 [D]

Question 12 [B]

Question 13 [D]

and 

Question 14 [E]

Question 15 [A]

Note: + c not required, since question asks for an

antiderivative.
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Question 16 [A]

y = tan u, where 

(chain rule)

Question 17 [D]

let 

Terminals: ,

x = 0,

Question 18 [D]

cosecx

(Pythagoras’ Theorem)

Question 19 [B]

The graph of Sin–1(x) is shown above with domain 

[–1, 1].

Sin–1(x – a) will be translated ‘a’ units to the right,

hence

[a – 1, a + 1]

Question 20 [E]

Note, + c not required, since question requests an

antiderivative.
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Question 21 [B]

Question 22 [C]

When 

Question 23 [D]

Question 24 [C]

Magnitude of force newtons

Question 25 [D]

let 

Terminals: x = 1, u = 1 + 4 =5

x = 0, u = 0 + 4 =4

Question 26 [A]

y = sinx

x = Sin–1y

(Sin–1y)2dy

Question 27 [E]

Forces shown on the diagram have been resolved

parallel and perpendicular to the plane.

Considering equilibrium forces parallel to the plane:

T cos 30° = F + 4g sin 20° and since

F = µN = 0.3N

T cos 30° = 0.3N + 4g sin 20°

Question 28 [C]

Hence 

≈ 7 28.
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Question 29 [E]

When x = 3, cm/s2

Question 30 [D]

Part II (Short answer questions)

Question 1

,

[M1]

t = 0, v = 0 

[A1]

[A1]

Question 2

.

[M1]

[M1]
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Question 3

a.

(I)
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(I) + (II) [M1]
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Question 4

a. and 

y = x + 3 (x+2)2 + (y–1)2 = 18

Line through (-3, 0) and (0, 3) [A1]

Circle [M1]

Centre (-2, 1) and radius [A1]

b.

[A1 for one of the points]

[A1 for the other point]

Question 5
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